MiAM -DADE MIAMI-DADE COUNTY, FLORIDA
[ METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305)375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Hurst Awning Co., Inc.
6865 NW 36 Ave.
Miami, FL 33147

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: 0.063” Aluminum (5052 H32 Alloy) Storm Panels Shutter

APPROVAL DOCUMENT: Drawing No. 98-217, titled “0.063” Aluminum Storm Panel”, sheets 1 through 8 of
8, prepared by Knezevich & Associates, Inc., dated September 30, 1998, last revision #3 dated May 9, 2002,
signed and sealed by V. J. Knezevich, P.E., bearing the Miami-Dade County Product Control Renewal stamp with
the Notice of Acceptance number and expiration date by the Miami-Dade County Product Control Division.
MISSILE IMPACT RATING: Large and Small Missile Impact

LLABELING: Each panel shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA renews NOA # 02-0315.08 and consists of this page 1 as well as approval document mentioned above.
The submitted documentation was reviewed by Helmy A. Makar, P.E.

,4 M\/ NOA No 03-0701.01

Expiration Date: 07/10/2008

o8 / 67 / o3 Approval Date: 08/07/ 2002
Page 1




Js \CADD\Cudds'B'\Hurst\ga‘—21‘7\R3—sub\98'—217—01.dwg . ‘AVazquez 05/09/2002 02:05:18pm

Print Information:

10.

11

12.
13.

14,

- 15.

16.
17.

FASTENER @ 12" 0.C. FOR DESIGN LOADS J \_/

LESS THAN OR EQUAL TQ 110 P.S.F.
ANO @ 8" 0.C. FOR OESIGN LOAD GREATER
THAN 110 P.S.F.

EXISTING CONCRETE;
HOLLOW BLOCK, OR .
WO0QD FRAMING ~——

. DICTATE. PANELS MAY BE MOUNTED HORIZONTALLY WHERE APPLICABLE, EXGEPT

GENERAL NOTES:

0.063" MIN. BARE METAL THICKNESS, WITH A MIN. Fy= 25.0 KSI
ALL EXTRUSIONS SHALL BE 6063-T6 ALUMINUM ALLOY, U.ON
TYPE | & TYPE Il PANELS, OPTIONAL 1” x 1 'x 16 GA STEEL BAR MAY BE USED TO ~

- CONTROL DEFLECTION OF STORM PANEL SYSTEM ON INSTALLATIONS BELOW 30"

ABOVE THE GRADE, PROVIDED THAT THE PANEL SPANS USED ARE 101" OR LESS,

THAT DESIGN LOADS AREBELQOW 72 PSF AND THAT THE SEPARATION FROM

GLASS 1S 1-7/8” OR MORE BUT LESS THAN 2.5",

TYPE | & Il PANELS SHALL BE FASTENED AT PANEL OVERLAPS AT MIDSPAN WITH'
1/4-20x 1" BOLTS W/ DIE CAST ALUM. WASHERED WINGNUTS OR JACKNUTS {(SEE .
TYPICAL ELEVATION). FOR TYPE | OR Il PANEL SPANS LESS THAN 33" OVERLAP
FASTENERS & TUBULAR BAR ARE NOT REQUIRED NO STEEL BAR OR OVERLAP
FASTENERS ARE REQUIRED FOR INSTALLATION TYPE Hll. (SEE TYPICAL ELEVATION
TYPE ). TYPE | & Il PANELS UTILIZING A STEEL BAR SHALL BE FASTENED AT
OVERLAPS AT MIDSPAN TO A 1" x 1" x 16 GAGE STEEL BAR USING 1/4-20 x 3-1/2"
BOLTS W/ DIE CAST ALUM, WASHERED WINGNUTS OR JACKNUTS, {SEE TYP. ELEVATION).

TOP & BOTTOM DETAILS SHOWN MAY BE INTERCHANGED AS FIELD CONDITIONS
FOR "h" AND “U*-HEADER MOUNTING CONDITIONS. _ )
AT LEAST ONE WARNING NOTE PER OPENING SHALL BE PLACED IN A CONSPICUQUS

LOCATION ON ANY OF THE COMPONENTS OF THE STORM PANEL SYSTEM ADVISING .-
THE HOME OWNER OR TENANT THAT THE STORM'PANELS WILL NOT OFFER HURRICANE

PROTECTION UNLESS ALL REINFORCING BOLTS AND TUBE ARE PROPERLY INSTALLED

WHEN REQUIRED. WARNING LABEL SHALL BE FASTENED WITH PERMANENT ADHESIVE

--OR MECHANICALLY. ADDITIONAL WARNING LABEL SHALL BE PLACED WHEN SPRING

LOCKING CLIPS ARE US
PER HOLE. '

WHEN PANEL IS USED, v6-1/A"' AND 12-1/2" O.C. SHALL BE USED IN ALL DETAILS
IN THESE DRAWINGS IN LIEU OF 6 AND 12” BUT FASTENER SPACING SHALL NOT
EXCEED THAT SHOWN IN'ANCHOR SCHEDULE ON PAGES 6, 7 & 8 OF 8.

ED STATING THAT TWO SPRING LOCKING CLIPS ARE REQUIRED

(QUTSIDE)

OVERLAP FASTENERS
TYP. (SEE NOTE # 14,

©) 176" MAX. »

/ L4176 MAX,

Z—EXIST]NG CONCRETE,
HOLLOW BLOCK, OR
W0OOoD FRAMING

{INSIDE)

/\

ALUM. ANGLE- CLOSURE PIECE:
1% x 2" x .055" MIN. TQ
2" x 5" x .055" MAX.

SEE STORM PANEL SCHEDULE
FOR MAX. PANEL LENGTH
““{VERTICAL OR HORIZONTAL)

TYPICAL ELEVATION-TYPE |

‘WIDTH UNLIMITED WIDTH UNLIMITED

TRl

. . o . . : PRODUCT MARKING 063" ﬁ 2.250"
THESE APPROVAL DOCUMENTS REPRESENT A SHUTTER SYSTEM ANALYZED WITH LOCATION . YR N 2.250"
THE PROVISION SET FOR THE ISSUANCE OF A NOTICE OF ACCEPTANCE (NOA) BY - [
MIAMI-DADE COUNTY PRODUCT CONTROL DIVISION FOR THE HIGH VELOCITY HURRICANE . . } 3 062" R 250l 062"
ZONE (HVHZ) OF THE FLORIDA BUILDING CODE. , 2! soon gl sgon 2.118 7 v |/ Vel R 250"
TO VERIFY THAT THE ANCHORS AS TESTED, ARE NOT OVERSTRESSED IN-THESE 7} - 3 : Y :
APPROVAL DOCUMENTS, A 33% INCREASE IN ALLOWABLE STRESS WAS USED IN N e s n 2o oe e B
THE FASTENER ANALYSIS. ‘ L 757 12.00" COVERAGE { 750 6.00" [ m | o b
DETERMINE THE POSITIVE AND NEGATIVE DESIGN LOADS TO USE WHEN REFERENCING - 13.00" ’  — Y N
THESE DOCUMENTS IN ACCORDANCE WITH THE GOVERNING CODE AND GOVERNING 13.50" 2.063" 2.035"
WIND VELOCITY. FOR WIND LOAD CALCULATIONS IN'ACCORDANCE WITH ASCE 7-98, FULL PANEL - HALF PANEL '
A DIRECTIONALITY FACTOR OF Kd =1.0 SHALL BE USED. , . : e e _ _
» . ’ - ONE HALF PA ENJ " " in
THESE APPROVAL DOCUMENTS ARE GENERIC AND DO NOT INCLUDE INFORMATION v STORM PANEL MAY BE USED AS REQUIREDS0 -"h" HEADER "U" HEADER
FOR SITE-SPECIFIC APPLICATION OF THIS SHUTTER SYSTEM., . o COPRODUMINGENEWED SCALE o Ton SCALE 3" o 70"
' ' SCALE: 3" = 1'-0" o R TSR 3= 1o
THESE APPROVAL DOCUMENTS COMPLY WITH CHAPTER 61G15-23 OF THE FLORIDA - . as complying with thé Florids : ' : T
ADMINISTRATIVE CODE. e : . } S s PRODUCT-MARKING Buiding Code :
» ' ' - o 9¢3 LOCATION : Acceptance No 93- 076
THESE APPROVAL DOCUMENTS, ARE SUITABLE TO BE APPLIED BY THE CONTRACTOR - {TYP. Expiration Date ¢ :
.PROVIDED THE CONTRACTOR DOES NOT. DEVIATE FROM THE. CONDITIONS DET AILED . . ; €0 .
- HEREIN AND THE CONTRACTOR VERIFIES THAT THE EXISTING STRUCTURE DOES - 5| . 2.000" 500" . /A
NOT DEVIATE IN EITHER FORM OR MATERIAL FROM THE STRUCTURAL SUBSTRATES 9 .37s" » 15007 By )
DETAILED HEREIN. - L C ' , L < ' Miami Dagé Product Comtes] B
ANY MODIFICATIONS OR ADDITIONS TO THESE APPROVAL DOCUMENTS WILL VOID 75" 125007 COVERAGE 1 Rivisipn ' % 425 TP
 THE APPROVAL DOCUMENTS. o R o | R T
. o - y y | : . N L=l ) N
WHEN THE SITE CONDITIONS DEVIATE FROM THESE APPROVAL DOCUMENTS, THE 1 \ 250~ o {SEE DETAILS FOR SPACING)
-BUILDING OFFICIAL MAY ELECT ONE OF THE FOLLOWING OPTIONS: - 14.250 : % _ 1L , R
A) REQUIRE THAT SITE SPECIFIC DOCUMENTS BE PREPARED, SIGNED, DATED AND - FULL PANEL ' ; R { : 5:007 MAX. l 2.00" -
N AR HERIR P ES ARSIRISRED ARCELTE L M OETAL T | T L
A . : : _ : _ : .
PRODUCT ENGINEER FOR REVIEW AS A CONDITION TG THE BUILDING OFFICIAL .. STORM PANEL ANGLE ANGLE STUDDED ANGLE
GRANTING HIS/HER APPROVAL. L o - v SeAlE 3 o SCALE . 3" =7 -o- SCALE 3" = 7-0" SCALE : 3" = 1'-0"
B) REQUIRE THAT A ONE-TIME SITE SPECIFIC APPROVAL BE APPLIED FOR AND SEE GENERAL NOTE #17 ON SHEET 1 OF 8. : 186" o .
. SECURED FROM THE MIAMI-DADE COUNTY PRODUCT CONTROL DIVISION . , . F
WHEN THE SITE CONDITION DEVIATIONS OCCUR WITHIN THE HIGH VELOCITY HURRICANE — o . 0 100"
ZONE AREAS ONLY OPTION “B"” SHALL BE ACCEPTED BY THE BUILDING OFFICIAL. - 188" L |o82f g —
PRODUCT MARKINGS SHALL BE WITHIN 12 OF ONE END OF THE PANEL WITH A TT 307" [ 666 3 = et .
MINIMUM OF ONE MARKING PER PANEL AND SHALL BE PERMANENTLY LABELED: - . ndl . o e 3 116 GA.
AS FOLLOWS: PR | HORIZONTAL : . 2315”7 - :
- ) : HURS'\.,"I'IAA“\III\IIN'I:TBiR(iSRINC. - ] ——==—=o" ‘LEGOPTIONAL ’ ) T
MIAMI-DADE COUNTY PRODUGT CONTROL APPROVED ALT. LEG |_2000" | (ZAMAC 3 ALLQY) (TWO PER HOLE) ' -
» ) . DIRECTION—/ . e T SPRING LOCKING SILL TRACK , S
ALL BOLTS AND WASHERS SHALL BE GALVANIZED OR STAINLESS STEEL WITH A - OPTIONAL ANGLE WASHERED WINGNU (W/ 1/4" x 1-5/8" SLOT AT 6" 0.C STEEL BAR
MINIMUM TENSILE STRENGTH OF 60 KSI. : : SCALE CRALFSIoE CLIP (1" WIDE) :
. Tae 10 ) : . L3 = 10" ALF SIZE
STORM PANELS SHALL BE 5052-H32 ALUMINUM ALLOY, WITH THE FOLLOWING SCALE: 3" =1-0 ' " SCALE:3"=1%-0 H
BARE METAL THICKNESS AND MECHANICAL PROPERTIES: . : SCALE ¢ 3" = 1'-0"

WIDTH UNLIMITED

IPERP. TO PANEL SPAN] TOP MQUNT {PERP. TQ PANEL SPAN) {PERP. TO.PANEL SPAN}
: PIECE(2).(B). _ . .
TYP. SECTION e @A) — ~ TYP. SECTION . . : « L
. - A + ~— TOP MOQUNT. F [~ TOP MOUNT
: . . ‘ol i o] o] o] i o ) A N !
“174-20 x 3-1/2" PIECEOR@ . PECE@ °R®
SIDEWALX BOLTS OR OIRECT MOUNT .OR DIRECT MOUNT
W/ DIE CAST ALLM. _ K
WASHERED WINGNUTS ' | . wof
FASTENED AT OVERLAPS. 5 £l J 5zl
(SEE PLAN VIEW AND .- 3 Ff < : ; . agls
. . 2z . o 4
NOTE 12} £z/2 176-20 x 321/2" 5&ls
niN. - SIDEWALK BOLTS wz
PLAN VIEW Sl W/ DIE CAST ALUM. "+t | &
'v. zz|T [JL][] dU 1l WASHERED WINGNUTS . 2Z| T
A rATATa T AT AT R T <3l AT YTIT[1 - FAsTENED AT OVERLAPS. T2 |& |
' \ £%] . {SEE PLAN VIEW AND. = ¢ ;|
: . Z%l< ! NOTE14) - ze]<
. og|Y Oy
= apTioNAL (1) - =S - il I
- naely . Y41
“ AT x 1%%.16 GA, wOlE, apTIONAL (1) w Ofui
STEEL BAR {SEE & w'|>" 1 % 1% x 16 GA. wrz
P"SAN V‘E&W1f) I STEEL BAR (SEE o :
NQTE 13 2 : PLAN VIEW &
- . NOTE 13 & 14}
: ’ _ . . h . . o1 oI ' :
e h e T : - BOTTOM MOUNT LRI AT AL sortoM MOUNT T Tu' {TYP.] ' Bmmému%s
L 6" | . : L 6" | 2  ATYP.) | . PIECE (6) OR
PECE(8) R (7). . - L PiECE (6) OR » (
_ @ ©) ‘ TYPT, ®wr® UNLESS CLOSER SPACING OR DIRECT MOUNT

- TYPICAL ELEVATION-TYPE Il

OR DIRECT MOUNT REQ. FOR DIRECT MOUNT

TYPICAL ELEVATIONATYPE i

NOTE: IF BAR @IS NOT USEﬁ, TABLE 2 “NO BAR W7 BOLTS” IS APPLICABLE FOR SEPARATION FROM GLASS

IF BAR @lS USED, TABLE 2 "BAR W/ BOLTS" IS APPLICABLE FOR SEPARATION FROM GLASS.

SCALE: 1-1/2" = 1'-0"

2" x.5" % 125" MAX, v

(NO BOLTS AT PANEL OVERLAPS OR BAR ARE REQUIRED)

louTSIoe! {OUTSIDE) @ }ugé 1)'(Y1IS ?gpi{cfrfku SEE )
: m NOTE 13 & TYPICAL ELEVATION FRODUCT REVISED
__p o TmmmmEm B ;5 complying with the Floridg
L ——— FASTENER @ 12" 0.C. FOR DESIGN LOADS Am(ﬁmg Cade |
g LESS THAN OR EQUAL TO 110 P.S‘GFI.?E e E:Wpi‘ameﬁ 03)s Q8
’ : AND @ 8" 0.C. FOR DESIGN LOAD GREATER e 7 ? ‘
O : = -0 v » THAN 110 P.5.F. ey b
- . . . . 1/2" QVERLAP . _ ¢
{INSIDE) lINSIDE) EXISTING CONCRETE, By
r ALUM. ANGLE CLOSURE PIECE 7 naLLOw BLOCK. OR i roduct Controf
- . : . WwO0OD FRAMING " ol
PLAN VIEW / CLOSURE DETAILS g e NN TO . Division

d

—

ACANRN] J
Yz|R8z3|=
Zoian gl
— -‘*I' “wi
HEEELE
Nl W
R
=i a w o=
wol8g 2o
o |8 & o
D A v
e su-g) %
— O L | 4
o = :
VElEaZle
o, T3z
R
Vi, g'ag o [V
sl oS E|Z
w
wl gl gl
zZ|3 T e
[~ L% 9=
SleEF s
Z| 5 « N
Iu_, nog ~
Q
8‘5 E§ ‘o
>= §§§ N
J g+ %m e
NI R
ww| Zaais
= . .
<5 8§$ z
ol 2 g
[ c————]
T "
Q
é':"\ggw
EEig3e
E AL
EIqadd
:-' E'E-g\oAm
R
| B R-EE
=25 xEa>3
BTl
2|5 ZEuE
Al 88sEs
D mwzégm
w2 TR
O -
. I E s
2 ey
mO| £ 1
O 2 ig
ow| z 3z
. E] o
o |\
g, i3

‘l

-

description -
1 [09/30/9B)VIK| PREV. DRAWING # 95-33(\

GENERAL REVISIONS
GENERAL NOTES

revisions.

by

2 [01/04/9BIVIK]
3 P5/05/02/0LB]

no| date

[ 09/30/1993]

scate drawn by
AS NOTED MC

checkead by
VIK

esign by

drawing no.

98-217

sheef 1 of 8]

{d VK
|
1L

05/09/02 1405



J: \CADD\Cadd98\Hurst\98= 217\R3—sub\98~217—02.dwg. AVazquez 05/09/2002 02:56:12pm

Print In.formation:

g
EXISTING CONCRETE, “ EXISTING CONCRETE, EMBED. pal
HOLLOW BLOCK OR e 5 . HOLLOW BLOCK OR {TYP) ] MAX.
W000 FRAMING {SEE : . WQQD FRAMING (SEE FASTENER, SEE ANCHOR
ANCHOR SCHEQ. BASED ‘ : FASTENER, SEE ANCHOR FASTENER, SEE ANCHOR ANCHOR SCHED, BASED N SCHEDULE, REFERENCE
ON TYPE OF STRUCTURE) bl /- SCHEOULE, REFERENCE sg:ggghﬁdﬁﬁﬁﬁgﬂi 1 EDGE DIST, 5/8” ON TYPE OF STRUCTURE)—| CONNECTION “TYPE 3"
. CONNECTION *TYPE 2" ” 58 \ .
. - v _ g e
f “ —] EXISTING CONCRETE, 1 1/4-20 MACHINE BOLT &
) 1"—? HOLLOW BLOCE ?SREE NUT @ 12” 0.C. STAGGERED
WaQaD FRAMIN 1 : YP, TOP & BOTTOM)
EMBED. ANCHOR SCHED. BASED wl N Y. 1&" MAX.
g ATYP) ON TYPE OF STRUCTURE) gt m L . O ™ v}
alg 14" MAX; 3 174" MAX £a = Yz gs|z
w [ . Ly AR |} B Z: m e 8 -
— - | - : — * |l
——3 . . T- .
il . ol ] 9 . wlZa g
l ! U,;"‘ 90 g«
) : ) ~ | W -l S < Wi~
L . L I ! “ flws| 2835
. 2 w oo o]
w [ a F21agg
3 ; ’ 2 : | Ele <22 gl
.SEEMIN. SEPARATION = SEE MIN. SEPARATION 2 . ol & Zo|ETE <
FROM GLASS SCHEDULE |3 FROM GLASS SCHEDULE 8 SEE MIN. SEPARATION [ R zl4 Ux| b qd
{SHEET 5 OF 8) it (SHEET 5 OF 8] Gl z FROM GLASS SCHEDULE _ | O |- - _ SR
' Zi'a Zlw (SHEET'S OF 8} W > "y B . 1TRZ=
af . ot _ z] < vy Y]
T jg ' ol © GLASS : by d— <| & . ngaz;_
GLASS : P 1 i GLASS 7 ¥l < OR DOOR ~-ormem R . | el s <l T AN
* OR DOQR'—= : o a ‘OR DOOR ——=] <l a : . Xl 6 Swipwgls
¥ z|3= F
I ol x oo “z (®conT. i =5 = IR
[ ¥E g - i|E | ’ e
i =|a ®conT o 1/4220'MACHINE SCREW |0 @conT(TYP, } 0 - T3 E » §ia
[ u ’ ] .STUD & WINGNUT @ 6" 0.C. u TaP & BATTAOM i Yol z 8&|e
: | 9 | FOR TYPE | & # AND ] oy i -2 s e
P 1 i i @ 12" a.C. FOR TYPE IIL. 1 - - >Z2 &
ol - | . ! i _ : : wle - = \ ' LFY¥zzle
. . : 1) f = 1 . = - &
an _. I ®con. ¥ 14 l | 81z T = : 1/4-20 MACHINE SCREW NS S5FE |k
wid . | A ! o | : ; - STUD & WINGNUT @ 6* Q.C. ww| o g g
: ) I . |4 .- EXISTING CONCRETE, < FOR TYPE | & il AND Zlg g W
g ol ~ FASTENER, SEE ANCHOR s
EXISTING CONCRETE, - [ : 7yt £ REFERENCE HOLLOW BLOCK OR @ 12° O.C. FOR TYPE i, 1Zc| 8@ 2|5
I il , SCHEDULE, R v ol
HOLLGW BLOCK OR- -, \ ; CONNECTION “TYPE & WQO0D FRAMING {SEE _ E LTRSS |t v 1
W0QD FRAMING {SEE o0 ) J 1/4~20 MACHINE SCREW ' ; v ANCHGR SCHED. BASED p————
ANCHOR SCHED. BASE : \ STUD & WINGNUT @ &° Q.C. » ~.ON TYPE QF STRUCTURE)—
oNTvee oF STherunel— 7 ASTENER. st ancion A g concrere , v D
: . ¢ @ 12" 0.C. FOR TYPE IIi. A WOaD. FRAMING (SEE - : } . 8 ES SR
- CONNECTION "TYPE1 . '+ - ANCHOR SCHED. BASED FASTENER, SEE ANCHOR! 1 R _§E 25
e T ON TYPE OF STRUCTURE} SCHEDULE, REFERENCE E N2 EREKS
) .. 3 w " . o
: . . - EDGE DIST. CD_NNECT’ON, PR D-I {,3 @.%"‘385
ANGLE TO WALL DETAIL * PANEL TO ANGLE DETAIL ‘ - . - 2"” 3% 5G§gﬁ
' S x SIDE CLOSURE-REQ'D. (SEE PLAN VIEW) - S22 € R ‘3?’,@,
. ; : - £Zz85 8%
~ WALL MOUNT SECTION CEILING/INSIDE MOUNT SECTION BUILD-OUT MOUNT SECTION NEEEEEE
® » fouN © 2 ' S8]g2dcd
SCALE : 3" = 1-0" “SCALE: 3" = 1'=0" v SCALE: 3" = 1'-0 &lE 2 =
. g ok
: - MIE z8
SEE MIN. SEPARATION - 578" MAX—F FASTENER, SEE ANCHOR SCHEDULE, FOO ;:; S H
WOGD FRAMING FROM GLASS SCHEDULE EMBED. . REFERPNCE CONNECTION "TYPE 1° Op ?%
TYP. TOP-2 . -
(SHEET 5 OF 8) K EXISTING CONCRETE, {Typ] USE REMOVABLE FASTENERS @ 6"0.C. MAX. own & 35
FASTENER, SEE ANCHOR : Y v i oD PR e FOR TYPE | & Il OR @ 12" 0.C. MAX. | B o
SCHEDULE, REFERENCE : A ] | ANCHOR SCHED. BASED / FOR TYPE Ill (00 NOT USE WHERE ANCHOR o | gE
CONNECTION *“TYPE 2 il L : ON TYPE OF STRUCTURE it - SCHEDULE SPACING IS LESS THAN 6" 0.C} ES 23
. ] - ] =4
- p 4 2 . <
- _']“,_®@= . ]
: —_——— \a
7 : — | Ny , V.J. KNEZEYICH
B [ A4 MAX. 1 e & . PROFESSIO GJNEER
/ 3/8" ]’ . —— o " w ! FL License N 083
: o T 2 | ; o
T . ’ [ 5 ; w, |
- ol z|- — i
, o | [ 4 i
. | . I - 1 <
. N w l 1 g 1 4 _
GLAss " ‘ : | 3 | ll i : i a . ; e
OR DOGR —L . : B A e I GLASS - PRI L OR¢| s m ' 1 ’ 2002
SEe M. SEPaRaTION 1L — FAl] [ : = ‘GR DOOR | - f al g PRODUCT RENEWED *
OM GLA L — ] ' o - iy . = , 4
“{SHEET 5 QF 8) ~_ I 22 | B SEE MIN. SEPARATION : nlz as complying wrih the Floridai 2l :
) ) o z e l ’ . FROM GLASS SCHEDULE * 4y - o Za Buiding Code - . NEN
N N . o
L] I| ifx \ (SHEET 5 OF §) ————— : Sk AcceptanceNoO?-— 070]- 0] HREE
%| & . " >
O e i | g5 Expiry ol 12121813
- T|wn \— . ) ] IR
i .y . - b~ 1/4-20 MACHINE SCREW w v c |5l2(2)E
o A s l : ‘/‘;zf_gc“av’/ﬂ f}s,‘,',,'-AG STUD & WINGNUT @ 6~ 0.C. : u By 41 of 15|55 2
] v [ @ L. W/ - FOR TYPE| & 1t AND Piami D =l P15l
E PENETRATION INTO wooD . 1 T EFE L o e | Divisi o | 138
: ) SO o T ; : sion SH %
=2 - 1/4"0 x 4-1/2" §.5; g% ] | of [rEee
: EMBED. LAG SCREW @ 24" 0.C. MAX. | _ 8la. £ ! v ~ jalslla
B \— . . K W7 1-3/4" PENETRATION "EXISTING CONCRETE F | . MRS
: “ . . . -
FASTENER, SEE ANCHOR -;’T‘Ug"&”\‘f‘ﬂﬁ"k‘ﬁfgzwo c 5787 MAX—F~ IN CE:TER.TOF STUDS HOLLOW BLOCK OR | . R
: "ac 2" x 6" P.T. W0QD FRAMING (SEE ; SIS
W00 FRAMING ?8:52?#%’4“5;?@?‘1?.5 FOR TYPE | & Ii AND WQOD CONT. ANCHOR SCHED. BASED :’RODU'%REVISED I pe
@ 12" 0.C-FOR TYPE Il ON TYPE OF STRUCTURE}-— €omp) gmme Fioriﬁa L=
. NOTE: THIS DETAIL MAY BE USED Buiding C [dare 09/30/1998J
ANGLE TO WALL DETAIL PANEL TO ANGLE DETAIL AT TOP OR BOTTOM OF PANELS.

scale drawn by
AS NOTEQ | MC |

[design by J[che:ked hy]

NOTE: USE QF THIS DETAIL IS LIMITEO TO = 72 PSF.

WALL MOUNT SECTION

-0" S ' -

ViK VIK

WALL MOUNT SECTION

SCALE : 3" = 1'-0"

® WALL MOUNT SECTION
(DIRECT MOUNT)

SCALE : 3" = 1'-0"

© ®

drawing no.
SCALE: 3" = ¢

98-217

( sheet 2 of 8|

05/09/02 14:05-



J: \CADD\Cadd98\Hurst\98-217\R3~sub\98-217—03.dwg OBlanco  05,/10,/2002  09: 21:13am

Print Informotion:

SEE MiN. SEPARATION 7 {

(@ conT.

GLASS
OR DOQR:

@CONT. (TP, =

&NUT@

FROM . GLASS SCHED. 4
{SHEET 5 OF 8} ]

174620 MACHINE BaLT
C

12"

TOP & BOTTOM

EXISTING CONCRETE,
HOLLOW BLOCK OR |
WQaD FRAMING (SEE

5/8" MAx.T-'
"~ EMBED.
TYPl

ANCHOR SCHED. BASED
ON TYPE OF STRUCTURE)

— 06

MAX. PANEL LENGTH
SEE STORM PANEL SCHEDULE

EDGE
3747

EXISTING CONCRETE,
HOLLOW BLOCK GR

wQaaD FRAMING (SEE -
ANCHOR SCHED. BASED W & B
ON TYPE OF STRUCTURE)—]

" EMBED.

578" MAX 4

|
!
¥
4

MFASTENER, SEE ANCHOR

CHEDULE, REFERENCE

CONNECTION "TYPE 4"

- HEADERS

\“‘. 1/4-20"MACHINE SCREW STUD

& WINGNUT @ 6" FOR TYPE I & Ii _
& @12" 0.C.FOR TYPE it

. SEE MIN. SEPARATION

FROM GLASS SCHEDULE -

. FASTENER, SEE ANCHOR
SCHEDULE, REFERENCE
CONNECTION *TYPE 2"

/ 1/4-20 MACHINE BaLT
_ 2 WINGNUT @ 6" FOR TYPE | & I
% @ 12" 0.C. FOR TYPE Il

__'@@

(SHEET S OF 8)

* SlDE CLASURE REQ'D. (SEE PLAN VIEW)

NQTES: - THIS DETAIL'MAY BE USED AT TOP
: OR BOTTOM OF PANELS, .-

CANNQT BE USED IN

COMBINATIGN WITH. THIS DETAIL.

ALT. BUILD-OUT MOUNT SECTION

SCALE: 3" = 1'-0"
* THREE 1/4"8 WOOD LAG 1172, 1-1/2"
SCREWS W/ 2-1/4" MIN. i

- EMBED. @ 24" 0.C. MAX,

5/8*
MAX,

CONT. 4" x 250" . °
ALUM. PLATE OVER
Ww00oD MEMBERS

). SEE MIN. SEPARATION

‘WOOD ROOF TRUSS

TO PANEL

SEE MIN. SEPARATION.
FROM GLASS SCHEDULE {
(SHEET 5 OF 8} I
; \ R
— OB
GLASS .

MAX. PANEL'LENGTH

- - Y SO Kl

SEE STORM PANEL SCHEDULE

i
:
|
]
g
|
1
!
l
|
1
)
y
1
1
a

) N
¢

_ NOTE: THIS DETAIL MAY BE USED

AT TOP QR BOTTOM OF PANELS.

WALL MQ.UNT DETAIL

SCALE : 3" 1-0~

OR FRAMING MEMBER R :
SHALL BE PERPENDICULAR : i

————® 2 x 2" x 125"

OR DOOR’

ALUM. STUD ANGLE

MAX: PANEL LENGTH = 5°-6"

STUCCO FINISH OR

PLYWQQOD SQFFIT

174" MAX,

(FROM GLASS SCHEDULE
(SHEET S QF 8) - -

— O

S S| S

{MAX. DESIGN LOAD & 72 PSF}

SOFFIT CONNECTION DETAIL

#14 SMS. BETWEEN
‘TRUSSES @ 12" 0.C.

a:_ 5“ ’

3/4% PLYWOOD

[~ 2" x 4" .x 1/8" CON

T. .
CALUM. TUBE {6063-T6)

17470, POWERS RAWL CALK- IN @ 70.Co
WITH 7/8* MIN. EMB. IN CONC.

" HOLLOW'BLOCK OR 1/4"@ LAG SCREW
@ 12" 0.C. W/ 1-1/2" MIN. EMB.

IN WQQ0D. WOQD SHALL BE.OF SPECIFIC
- GRAVITY *G" OF 0:55 OR GREATER

- EXISTING CONCRETE,
HOLLOW BLOCK QR
WOaD FRAMING (SEE
ANCHOR SCHED. BASED
ON TYPE OF STRUCTURE)

MAX. PANEL LENGTH

{MAX. DESIGN LOAD =

W= 1/2"® THRU'BOLT @ 12* O.C.

1/4"® POWERS RAWL CALK- IN @ 12" O c.
WITH 7/8" MIN. EMB. IN CONC.

HOLLOW BLOCK OR 1/4"@ LAG SCREW

@ 24" 0.C. W/ 1-1/2" MIN. EMB. IN w00D
WQOD SHALL BE OF SPECIFIC  ~ °
GRAVITY “G* OF 0.55 OR GREATER

\\v@ 2" x 2" x 1/8" CONT. ALUM. ANGLE 6063-T6

5/3"
MAX.

72 PSF)

"PASS THRU" DETAIL

®

SCALE : 37 = 1"-0"

®

SCALE : 3~

—0"

MAX. 1/8" TILE -
FiINISH MATERIAL -

SEE MIN. SEPARATION
FROM GLASS SCHEDULE

(1)(Ga) sToRM PANEL

1/4-20 S.S.-BOLT &
WINGNUT @ PANEL MIDSPAN
OR @ 51* 0.C. MAX. {TYP)

MIN, 2" x 2" x .125” CONT.
6063-T6 AL. ALLQY

OR 18 GAGE GaLV, STEEL " .
ANGLE

(D2 sTorm PANEL -

' CORNER DETAIL

{SHEET S OF 8)

ON TYPE OF STRUCTURE}

EXISTING CONCRETE,
HOLLOW BLOCK QR
WO0OD FRAMING {SEE
ANCHOR SCHED. BASED

N

1.2% \EDGE DIST.

" MAX. PANEL LENGTH
'SEE STORM PANEL SCHEDULE
TYPE llt WITH SPRING CLIP

®
(9 TWa SPRING LOCKING

CLIPS PER HOLE @ 6" Q.C;

FASTENER, SEE ANCHGR
SCHEDULE, REFERENCE

EMBED.

-+ ' CONNECTION “TYPE 3*
*|lssa :

@

@ 2 %

2" x

MAX.

ALT. WALL MOUNT
"W/ SPRING GLIP (siLc oncy

SCALE: 3" = 1'-0"
NOTE:  PANEL LENGTH SHALL BE
LIMITED TO TABLE 1 TYPE il

3" x 1/8" OR .
5" x 1/8" 6063-T6

ALUM. ANGLE
~ (& 2" x 3" % 178" TO

SCALE =+ 3"'= 1'-0"
ok T
I -
¥
| t
| ©
OB — P
. 1 T
2" x 2" x 125" ALUM R I
©7. T 'STUD ANGLE | z
. . I Wy
[
[ Z
«
[ . | a
ko1
<
s ) 3
. . 4 .
o FAN 1 P
TWO-3/16" ALUM, NI
POP RIVETS s
‘@ 12" 0. c -

EXIS TING CONC RETE

1/1+"¢ POWERS RAWL CALK-IN
7/8” /

@ 5=-3/4" 0. C w/
MIN. EMB. IN CONC.
w/ 1/1. 20 MACHINE SCREW

&

2" x
6063-T6 ALUM. ANGLE
W/ 174" STUD @

12" Q.C.

5" x1/8"

.>E‘MB

,_L

J

2" MAX

NOTvE:FTHIS DETAIL MAY BE USED AT
TOP OR BOTTOM OF PANEL.

{MAX. DESIGN LOAD z 72 PSF)

EDGE MOUNT DETAIL

‘ I’RODUCT RENEWED
- a8 complying with the F!orida
Buiding Code
Acceptance No_© 03-070].0 ’
_ Expirg tm DBate

Division

PRODUCT REVISED
28 complying with the Floride
Buiding Code

Acceptance Mo 02-0315, 08
Espiration Datg?/D 2 /10 [0

SCALE : 3" = 1'-0~

By _/ :
Mifimi Dade Product Cofitrol
Division

g

A
EE
1260 N. UNIVERSITY DRIVE, SUITE 180 = FORT LAUDERDALE, FL 33322

WEBSITE: WWW.KNEZEVICH.COM « E‘MAIL: KA@KNEZEVICH.COM )

TEL: (354) 382-2800 - FAX: (954) 382-2989 = FLORIDA COA #3205

kOPYRlGHT@ 2002 KNEZEVICH & ASSOCIATES, INC

|

0.063" ALUMINUM

|

6865 N.W. 36th Avenue
Miami, Florida 33147
Phone: (305) 635-0900
Toll Free: (800) 327-0905
Fax: (305) 634-9078 .

STORM PANEL .

Manufacturers of Hurricane & Security Protection Products

AWNING COMPANY, INC.
"QUALITY SERVICE SINCE 1957*

—-
INE
ol2
SES -1
21=915
22152
| -l
REIEME
cl lal<TiE
xlx|%
O {%iohy
| (B |21
>t
“ wia
oo @i
> e
@ T |xfxla
EREINNE
dTOT™N
‘.G‘O\O
s
Hlofgla
AMiolo
sl G
[~ K-AR-1
. °"‘Nl"\
g &
ate
09730/1998
| iscale drawn by
AS NGTED
esign by

chacked by
VIK VIK

drawing na.

98-217

§
|

sheet 3 of 8

05/09/02 1406




- J: \CADD\Cadd98\Hurst\88-217\R3-sub\98-217-04.dwg  OBlanco 05/10/2002  09: 28: 56am

Print Information:

o

Sl T
] .
I s ] v _ 1an
—®e © § 1 EXISTING CONCRETE, : . : [—= 6"
| o | HOLLOW BLOCK OR _ r 1 1
| | WOOD FRAMING (SEE _ . . . -
ANCHOR SCHED. BASED - ’ " 3 T T T T T T T T TN aszete HOLE Fo
- o . ! I | ONTYPE OF STRUCTURE) 2" x 5 x 1/8" Y 2 R
(® 2" x 2" x 125" ALUM i i FASTENING PANEL
: : Q : 6063-T6 ANGLE _ TR U
STUD ANGLE i 9 ’ Uz 38 =iz
R u o *_‘@ : ) i S 2 x 2 ALUM, . =l ] o 8 -
! o b3 “ o STUD ANGLE : Almaf o B
2 i 174" MAX. o | b “-55 -
z c. " " " . - N . - H =
< TWO-2" % 5" x 1/8 - 1/4-20 MACHINE SCREW ¥ L 1/4+ 20 sTUD : nT |20 l<
. o L 6063-T6 ALUM, STUD W/ WING NUT @ T : : NAT- TR s
) ¥ | -ANGLE . 6" 0.C. TGO PANEL e ; : ' SlEEg g
< | : ) ) ANGLE CONNECTION Z INTERIOR FASTENING . > 89 o
£ _ M- % S RN i ANGLE ASSEMBLY S : NIEHELEIE
- 1/4" 9% POWERS RAWL CALK ; _ el L H -— STUDDED STORM PANEL SCALE: 1-1/2" = 1-0" . . uElEa |,
7/8* MIN, EMBED. & @ | ]; L : . .z B ’ . i o as
_ 11" 0.C. IN CONC. OR @ » = H ’ ' | 1/4-20 MACHINE SCREW ' . : . e dd|T
X 7" 0.C. IN HOLLOW BLOCK ¥ g M2 % 27 x 1787 'STUD W/ NUT @ 6 0.C. : 1/4-20 MACHINE SCREW L S N
g _ WITH 1/4-20 MACHINE SCREW |- & STUDDED - . ANGLE TQ ANGLE % in SEW T8 oL - e
i I 1 ANGLE \ " CONNECTION o F TWO-1/4"@ DROP~IN ‘ = %g Zi
! Z . |~ THREE-1/4"0 POWERS RAWL _ _ - NG Tab a2 aRaE PEEET S
74"@ MACHINE BOLT | < : . CALK-IN @ 4" 0.C. W/ 778" . . o W/ 1" MIN. EMBED. . : i L2l
‘ - @ 12" 0 I ol L MIN: EMBED. IN CONC. W/ IN CONC. T2 E 8|~
5/16” & POWERS RAWL CALK-IN , : X} o 1/4-20 MACHINE SCREW . . _ Uolt 8 gllo
@ 6" 0.C. W/ 1" MIN;: EMBED.. -~ . _ o < ’ . . o - ale
- "INTQ CONC. OR HOLLOW BLOCK o a3 ()— I b3 3 . 1 INTERIOR FASTENING . >Z 8y ~
N\ - W/ 5/16-18-MACHINE SCREW = : _ : AN E I - : ANGLE ASSEMBLY . w8 <)
N : . - . At . - - |z o
~(5) 2" x 5" x 1/8" CONT. : R | PYEN : .,i_/ A A e SCALE: 1-1/2" = 1'=0° o NI SEHE 'LI;
“ANGLE 6061-T6 ALUM. W/ & - § ST o 4 wvl 3 38
1/4%® STUD @ 12" O.C. c o : (EMBED.| o Lt zZ /848 =
B . . - "‘.4 PRERAK) N - a - ) MG :\_4)— 8
bile— PUNCH HOLES IN ADJACENT P ———
L PANELS TQ RECEIVE THIS BOLT .
’ ' . PLACE PANEL OVER EACH =«
NQTE: THIS DETAIL MAY BE USED AT o : _ | - ADJACENT PANEL AND FASTEN 2 85288
= T S . . . S PN
TOP OR BOTTOM OF PANEL. . o {MAX. DESIGN LOAD & 72 PSF) " [MAX. DESIGN LOAD & 72 PSF) > : S E & E-;O. INE
(MAX. DESIGN LOAD 72 PSF) ’ o o - B : : - CRRig- R
: R - - Splfzaesd
: . . . N up - . . . R . . 2 N ano
: v : : ANGLE TO "U" HEADER : » STORM F’ANEL ZZ E ;&g@,@
. ' BT a0
EDGE MOUNT DETAIL : BUILD-OUT : v ' : ASSEMBLY MOUNT ' lNTERIOR FASTENING DETAIL (use wiTH 0ETAIL (T)) 2qEZEs8 7
: . : FundB8mgn
SCALE: 3" = 1'-0" ' SCALE - 3" = 120" : ALE ¢ 3% = 1'-0" SCALE:N.TS D) & 835 2=
s - S SCALE 3" =1~ : FRTS : PRODUCT RENEWED Tl 87EE
as complying with the Florids <§ El :
Buiding Code x § tH
Acceptance NoO3 - 070/ 0/ el 58
Expiration Date 07 /10 /¢ Op| 3 § a
— - : g 2=
o I~ 0 v ~— s 3,
i _ I - TWOQ - 5/16"® POWERS RAWL CALK-IN @ - . By o.m EE FGi8
i : 0 . 3-1/8" 0.C. W/ 1" MIN, EMBED. IN CONC. I Yo Miami Dads o |2 Sk
—o® 9 — DB ) OR HOLLOW BLACK W/ 3-3/4" MIN, —®a . E E
2" x 2" x 055" | T m | M EOGE DIST. W/ 5/16-18 MACHINE ] : © Division é £5
6063-T6 CONT. |- » S SCREW | " . : %6
| ALUM, TUBE u } L i z - 5 i I _.__,,L_;_
S - i / [ = : : in :
X o i - . - | -9 : S —_— [ i
I g J 2% x 2% 125" v g o 1/4"0 THRUBOLT @ @ = —0®
| 4 R e dare A eLe — o o - 12" Q.C. ANGLE TQ 0o |
g r y " e g S : o ANGLE CONNECTION |z Y
N z | . AN o - A z i1 . a |
| Z N : : : H | X 17."® POWERS'RAWL CALK-IN @ iz |
| a I < A : 1 Q.C. W/ 778" MIN, I |
i 1 o I I : X -~ EMBED.INTd CONCRETE W/ i o |
i < i : L 412 sMs 3 ' 1/4-20 MACHINE SCREW | i g |
! N X @12voc |- S ‘ ho.z |
| . Yy IR : [ |
] ] . S : S RWZUMIN, -G [T i
: : . L - : B T " : : - H | g |
: e L . S 27 %.7"x §°-7" MAX; T£=0.13", L - o=l _
\ - ® 2" x 2" x.125 : = 2" x 2"x .125" v » Tw=0.055" 6063-T6 ALUM. . T ]
1/4-20-MACHINE ~ STUDDED ANGLE. . . . "STUDDED ANGLE < : - - LAP BEAM / A ® 2+ x 2 x 125" 1/t -20 MACHINE SCREW T
SCREW @ 6" 0.C. : v : x x 2" x - - . |4l8a
1/4-20 MACHINE SCREW N oy o s A7« grgn T : =TUDDED ANGLE STUD % WINGNUT @ 6" .C. EMEEE
: STUD & WINGNUT @ 6“.0.C 2% % 3" X 174" x 0'=6 LI - FOR TYPEI & Il - : 0312
= For TYRE Ta | o : - ©,6063-T6 ALUM. ANGLE . 2-172" MIN. T CEEI
EXISTING CONCRETE, 1/4"® POWERS RAWL CALK-IN R ST i (TYP.’TOP & BATTOM) - Fr g . et RE EI MBS
HOLLOW BLOCK OR _ W/ 778" MiN. EMBED. Lo ' = : v ®2" x 2" x 125" o |aldiag
xvrqoof?dERéglNG {SEE - IN CONC. OR HOLLOW ' - ; _ . STUD ANGLE - O teia|g|E
C HED. BASEQ BLOCK & O.C. : : B - w o | w >l
ON TYPE OF STRUCTURE] v @ ) TWQ-1/4-20 MACHINE SCREWS . S 2" x|gux 1/8 v A ? I}
o _ _ ‘ . . o . ALT: LEG.DIRECTION , S 6063-T6 ANGLE —— » > Lt
) : : . ‘EXISTING CONCRETE, - = , ' : ' : PRODUCT REVISED SRR
: . . ‘HOLLOW BLOCK OR . . ' . T *lajo
. g o . : - - gs complying with the Flor:da ARIES
NOTES TS SETAL 1A 8 useo AT woso RN e NOTE T OETAI MaY aE UsED AT NOTE T OETAI A o€ useD T g Code R
>ANEL. ON TYPE OF STRUCTORE) TOP OR BOTTOM OF PANEL. : TOP OR BQTTOM OF PANEL. " Acceptance No.02-0315.08 2318
. . : . v : _ 2- 2
. e ' : Esxpiration Datg,02//0/ 03 I
(MAX. DESIGN LOAD = 72.PSF) {MAX. DESIGN LOAD £ 72 PSF) : (MAX. DESIGN LOAD = 72 PSF) P o Lo R A4 B4 —
: : 1 [ 09/30/1998
5/8" ' : By @A = scale drawn by
‘]MAx. , . Mel’mds:ct(}mtml [ AS NOTED
: : Division

VJIK VK

{ drawing no.

design by J[checked byl

@ 2" x 2" ALUM. TUBE BUILD-OUT o @ STORM PANEL SUPPORT BEAM @ STORM PANEL BUILD-OUT

SCALE: 3" = 1'-0" SCALE : 3" = 1'-0" SCALE : 3" = 1'-0"

98-217

sheet 4 of 8

05/09/02 13:20



~Print Information: J:\CADD\CaddQ&\HuEst\Q&'—217\R3—s'ub\98¥217—05,awg AVaiquez 05/09/2002 '02:19:43pm

d

X

T STORM PANEL (1) & (19 SCHEDULE Tl MIN. STORM PANEL SEPARATION FROM GLASS SCHEDULE —
. ) ) U o 0
B TYPE | TYPE 1| TYPE 1l B MINIMUM SEPARATION MINIMUM SEPARATION zZ| 88 § 2
E — L : FOR INSTALLATIONS 'FOR INSTALLATIONS —olz Xzld
e R FOR STUD.ANGLE MOUNTS, “F" E|POSITIVE ' 30" OR LESS | GREATER THAN30' | || g ggli
1 FOR ALL MOUNTING [FOR STUD ANGLE MOUNTS OR| TRACK MOUNTS, OR DIRECT 5 | DESIGN MAX. PANEL ’_ ABOVE GRADE ABOVE GRADE . L8 &85
B  CONDITIONS AT TOP [ ‘F* TRACK MOUNTS W/ STUDS |MOUNTS @ 12" 0.C. OR 12-1/2" O.C. LOAD (w)|  LENGTH (L) S (INCHES) . T TUNCHES) eslggg)s
NEGATIVE [(STUDS @ 6" 0.C. OR | @ 6" 0.C., DIRECT MOUNTS : SRR b ] eser (FT - IN) - : —= ' . : RN ELE D
DESIGN | 6_1/4" 0.C. FOR “F" | W/ ANCHORS @ 6" 0.C. OR | ~ = . o NI ‘ o BAR NO'BAR | 'NOBAR NO BAR & : SEEEELD
LOAD (W) | TRACK AND STUD 6-1/4" 0.C. (REQUIRED . — o R & BOLTS |w/ BOLTS|NOBOLTS NOBOLTS . . ol|Rg3)?
(PSF) | ANGLEMOUNTS ™ | AT TP AND8OTTOM) | . @B | SR N X 58 -7/8 | 2-1/2 2172 1-3/8 MR
- AT BOTTOM) k | - ' 40.0 '8-5 1-7/8 2-1/2 2-1/2 ~ 1-1/8 : cal =gzl
: : . e | ABOVE CONDITIONS | ABOVE CONDITIONS - 5 ' <ulegg|=
s : - | TOP & BOTTOM |AT TOP & SPRING| - £0.0 8-8 N/A 2-3/4 2-1/2 - Q| Ax G|
- : © | W/ NO SPRING | LOCKING CLIP 40.0 1-0 N/A 3 3-3/8 3 . L=|2 5 g ||
~LOCKING cLiP AT BOTTOM 500 5-8 1-7/8 2-1/2 2-1/2 | 1-3/8 lYo|z8g]|3
— : : ' ' 8-5 2 2-1/2 2-1/2 | 2 s=z|8 % § ~
L max. S - L max. ’ L max. : L max. 50,0 58 — - — 2 : . i: e [5)
(FT=IN) . (FT-IN) C O (FT=IN) L (FT=IN) 500 ik N/A 2-3/4 2‘;/2 —— : NEEF
' - . 0 -0 . 3-3/8 ; : walz 83
40.0 8 -5 10 - 8 _ 11 - Q 8 -8 50.0 N/A 2 : ‘ =z 288
50.0 8 -5 10 - 5 10 -5 8 - 8 60.0 > 9 1-7/8 2-1/2 2:1/2 112 o |ueSIEE g
. 8 -5 S ’ _ 60.0 8-5 2 4 212 | 2c2 . 2-1/8 | cn——
60.0 3 - 11 8 -7 600 8-8 N/A . 2-3/4 2-172 2-1/4 : E 228,
70.0 8 -5 9 -7 8 - 9 7.~ 4 50 5= A —3 Y N 3 ; o s E;S:E"o,“ﬁ';%
75.0 8 -0 9 -5 8 -5 6 - 10 = = 778 2-172 | 2-1/2 1-1/2 ' Sdl§ E5823
80.0 7 -6 ° -3 /-8 625 70.0 8-5 2-1/6 | 2-1/2 2-1/2 2-1/4 |2l £ REGS S
190.0 6& - 8 8 -0 6 - 10 25 -9 70.0 8 -8 N/A - 2-3/4 2-1/2 . 2-3/8 i ‘ EE E’iffsa
100.0 6 - 0. 8 - 9 6 - 2 5-.2 70.0 9 -7 N/A "3 3-3/8 3 ":n_ égég'ﬁfg
110.0 S -6 8 -7 5 -7 4 -.8 5-8 N/A 2-1/2 2-1/2 1-1/2 Tl 2 8772
80.0 S| %
120.0 5-0 8 - 4 5 -1 4. -3 80.0 8-5 N/A 2-1/2_ | 2-1/2 - 2-1/2 : <m 1 g5
1300 4 - 7 8 -2 4 -9 3 - 11 . 80.0 8 -8 N/A 2-3/4 2-1/2 2-5/8 m0 VE‘% ég
140.0 4 - 3 7 - 10 4 - 4 3-8 80.0 5.3 NZA 3 3-3/8 2 O §8
150.0 4 -0 7 - 4 4 -1 3-5 90.0 b -0 _N/A 2-1/2 2-1/2 SEALA 129 8 2
160.0 3-9 6 - 11 3 - 10 3 -2 - 90.0 8-5 N/A 2-5/8 2-5/8 » 2-5/8 © £ £
: - . - "8 -8 - PH T2- 2-3/4 i
170.0 3 -6 6 -6 3 -7 3-a 30.0 —— zji 2;’-‘* ;:;g — 2
190.9 2 -4 - L 3-9 £ 10 1222 4L -0 N/A 2-1/2 212 | e
190. 3-2 5-9 - -2 -8 — T — ~ - ’
: 3 -0 5-6 > - : 2 - 7 100.0 8-5 N/A S 2-3/4 2-3/4 2-3/4
200.0 : Sl 100.0 5-8 N/A 2-7/8 2-7/8 - 2-7/8
210.0 2 - 10 S -3 2 - 11 2 -3 100.0 8.9 N/ A, 3 1 3-37/8 3
. | 110.0 8-5 N/A | 2-7/8 2-71/8 | 2:1/8,
% NOTES: 1700 8 -7 N/A | 3 3 B 3 ol |
; NN
1. ENTER TABLE 1 WITH NEGATIVE DESIGN LOAD TO DETERMINE MAX!MUM PANEL “3200 S0 N/ A 212 2-1/2 T 1o1/4 NG
LENGTH. : : — EMHE
120.0 5-0 _N/A 2-1/2 2-1/2 : 1-1/2 of |2121E|2]
2. REFERENCE APPROPRIATE COLUMN IN STORM PANEL SCHEDULE BASED ON~ 20,5 Py A 3 3 T3 o 31332
- MOUNTING CONDITIONS IN FIELD. : — — — — — 2 B10lEE
3. SEE NOTE No. 17 ON PAGE 10F 8, NOTES: , SIRE
- : - —_— RIEEEE
1. ENTER TABLE 2 WITH POSITIVE DESIGN LOAD TO DETERMINE MINIMUM PANEL = EElte
PHOD ' R xs‘ © SEPARATION FROM GLASS. - - #8132
~ PRODUCT RENEWE g PRODUCT REVISED . _ EIER
lscomplymgwnh:‘:el?loﬂda 28 complying with the Florida 2. FOR DESIGN LOADS BETWEEN TABULATED VALUES USE NEXT HIGHER LOAD HER
Buiding Code . Bmﬁézzmcwe OR LINEAR lNTERPOLAT!ON MAY BE USED TO DETERMINE ALLOWABLE PANEL : L e
gcceptanceNoO3-o7o ol amegxsasneeﬂooz‘ 3IS: 08 LENGTH. , [eare 09/30/1998)
iy Lie/200g ' 3. “N/A “ DESIGNATES NOT APPLICABLE ~ MUST MEET “NO BAR” REQUIREMENTS. : B
B . ’ - : design b checkedb
Mo A
DiViSiOII drawing no.
i | 98317 |
Lsheei' 5 of 8]

05/09/02 14:19



J: \CADD\Cadd98\Hurst\98—217\R3—sub\98-217—06.dwg ~ AVazquez 05,08 /2002 .02:5v4:54pmv A

Printvlnforfnation: ‘

g
X

Uz 85z
LRI
EE I E
WaEEELE
[
SEEEEE
<3a!3 f‘.'g b
I
ot|283|:
Val o g. L:l i
AR b
. ) <Ca = & O |lw
_ . ) =z 59.‘,%’. N
. : v . o v _ 22258
T ANCHOR SCHEDULE — | _ IR ANCHOR NOTES: N L . E gg% z
. : : S : , - . - ’ TL| g ~
FASTENER MAXIMUM SPACING (INCHES) REQUIRED FOR VARIOUS.DESIGN ' : : : : 1. SPANS & LOADS SHOWN HERE ARE FOR DETERMINING 2 g
¢ ) FOADS AND SPANS S : ANCHOR SPAGING ONLY. ALLOWABLE SHUTTER _ Volz 883
. . - : , -~ SPANS FOR SPECIFIC LOADS MUST BE LIMITEDTO . . - >Z 84 g ~
_ v 3/4" EDGE DISTANCE - N - S THOSE SHOWN IN TABLE 1, SHEET 5 NGRS
w : ' 2. ENTER TABLE BASED QN THE EXISTING STRUCTURE’ ’ : SN2 ElE
of » -'—(Ovj\)D SPANS UP TO SPANS UP TO | SPANS'UP TO . MATERIAL, ANCHOR TYPE AND EDGE DISTANCE. o z=z|258|&
zp _ - 5 : 8'-5" 11'-0" o SELECT DESIGN LOAD GREATER THAN OR EQUAL TO . . . _ COlREZ|S
£0 | ANCHOR TYPE PSF (SEENOTE1) | (SEENOTE 1) (SEE NOTE 1) - , .~ NEGATIVE DESIGN LOAD ON SHUTTER AND SELECT : JEge e \Gl
E E : : MAX: CONNECTION p - +—- - » SPAN GREATER THAN.OR EQUAL TQ SHUTTER SPAN. SR
. . . . - : o2
= (SEE TYPE N?\E(ICDITEION CON-’#EE?ON 3. EXISTING STRUCTURE MAY BE CONCRETE, HOLLOW 2 geg8
@ NOTE 1) : : : S : - BLOCK OR WQOD FRAMING. REFERENCE ANCHOR : IR EXS3
‘ ' ' - _ : ' SCHEDULE FOR PROPER ANCHOR TYPE BASED ON S |5 z8%58
1p2y3{a|strj2|3fs]s|1|2|3|4]s5 TYPE QF EXISTING STRUCTURE AND APPROPRIATE Sl £ 55823
_ , — CONNECTION TYPE. SEE CONNECTION DETAILS FOR |2l E EE RS
o 48.0 [12.512.5012.5[12.5/12.512.5} 11 [12.5012.5] 9 }12.5] 7 [12.5/12.5] & IDENTIFICATION OF CONNECTION TYPE. S 2~ E;£§8"§
' : 4. ANCHORS SHALL BEINSTALLED IN ACCORDANCE =~ eSlz5 5780
AT | 62.0 [r2.5h2.sha.shzs| 11 hz.s| 7 h2shz.s| 7 hz.5 5 fzshzs| s R R L B A D AT IO, EE EZEEE
1740 WooD LAG screw | 720 [12:512.512.512.5] 10 h2.5| 5 [12.5012.5) 6 fi2.5 = | 11| 8 | & 5. MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDES o -l
W/ 1-3/4" THREAD 570 T2z WALL FINISH OR STUCCO. - éz s - E
(o FENETRATION . 5| 9 125|125 7 |r25| & |12 9 | & Jiz5 3 |6 |53 6. WHERE EXISTING STRUCTURE IS W0OD FRAMING, A g%
TO GRAIN) ' . ' A WOOD FRAMING CONDITIONS VARY. FIEL 2 Al E Z4
z300 4 ™ Sl e R L S e N A 51413 THAT FASTENERS ARE INTO ADEQUATE WOOD 80 = 52
. £8.0 ph2.s|12.5p12.5(12.5 12 h2.5| 11 j12.5112.5] 7 [i2.5] 7 h2.sj2.s] s FRAMING MEMBERS, NOT PLYWOOD. ohlE z8
' ; v 7. WHERE LAG SCREWS FASTEN TO NARROW FACE OF N E 3
g N> | 2.0 |i2.s|iz.5h2.5p2.5| 9 hz.s| 7 hz.512.5 s hz.s| 5 h2sjizs| & |. " STUD FRAMING, FASTENER SHALL BE LOCATED IN o) g oF
. o : CENTER OF NOMINAL 2"x4" (MIN.) WOOD STUD. 3/4" - K
(33_ 1/4w?1w§/oEMLTAHGR§§ng 72.0. N2.5[12.5(12.5(12.5| 8 J12.5( 5 [12.5[12.5| & [12.5/ & | 11 |8 | 3 EDGE DISTANCE IS ACCEST'A(BLE F)OR WwO00D FRAMING. é gd
-3 W/ | , X I : - : _ W0OD STUD SHALL BE THERN PINE” G=0.55 OR
 |isHe A nETRATION | 92:0, 112:5] 9 |12.5[12.5 6 12,5 & 1129 | 3 J12.5/3 | 6| S S - - : GREETER DENSITY. LASGOUSCREWS SHALL HAVE
TO GRAIN) 230.0 11 /] 5 L ‘ 1 5 4 - 11 5| 4 ; : : L e PHILLIPS PAN HEAD OR HEX HEAD.
- 7 8. MACHINE SCREWS SHALL HAVE MINIMUM OF 1/2"
48.0 112.512.512.5|12.5[12.512.5] 12 12:5[12.5| 12 [i2.5| 8 |12.512.5] 9 © - ENGAGEMENT OF THREADS IN BASE ANCHOR AND
— : : ; MAY HAVE EITHER A PAN HEAD, TRUSS HEAD, OR
_ ] 62.0 - |12.5[12.5012.5[12.5/12.5/12.5| 8 [12.5[12.5} 9 2.5/ 5 {12.512.5| 7 WAFER HEAD (SIDEWALK BOLT), U.O.N.
1/4"® ELCO MALE/ 72.0 |12.5[12:5012.5/12.5012.5}12.5| & [12.5/12.5] 8 [12.5| 4 [12.5] 9 | 6
FEMALE "PANELMATE" W/ : : : - ! , 9. IE’JCEJ?"?A’\::%EE%AABNLCEHSSECSONDITlONS WHICH ARE‘
1-7/8 MIN. EMBEDMENT |~ 92.0- [12:5] 10 |12.512.5 10 2.5} & [12.5{.10 | 6 25| 3| 7 | 6 | & ok
& 1/4-20 MACHINE . - < - e . S i : i S : . B :
SCREW WITH NUT 2300 25/ 3 |6 | S| 425836 th2s| 36|54 *  DESIGNATES ANCHORS WHUCH ARE REMOV ABLE o R ¥
v ; : : : © BY REMOVING WASHERED WINGNUT, NUT, OR ’ : L H
- MACHINE SCREW. |Rla
PRODUCT RENEWED I
a8 complying with the Florida zlal3i2
Buiding Code I RELE
_ Acceptance No3 — 070/ 0] SIREEE
. Expirption Bate 07 /10 /7.0, = =[5l
. . ’ wia
. 2| fEE
By A
M EIEERE
Dlvi.uon MEEE
PRODUCT REVISED L el
&Scﬁmgylﬂn with date j
Buiding C'on g the Flarida L 09/30/1998J
AW%@!&_M@@Z/S 08 . [s?sliorsn]{drawn b:@
y 7 (de_s:gnvt:)é Hchecke%ﬁ
¥ira A‘_,’” o . drawing nao.
vision aGe #foduct Contrgl 98"21 7
(sheet 6 of 8]

05/09/02 14:21



Print Information: J:\CADD\CaddQB\Hurst\QB—Z‘l7\R3—sub\98—217-07.dwg: AVazquez 05/09/2002 02:54:09pm

U2 §‘8 = z
ANCHOR SCHEDULE ' _ _ , : _2_: ﬁ g g =
4 - i . o ’ . . . . : o w
FASTENER MAXIMUM SPACING (INCHES) REQUIRED FOR VARIOUS DESIGN LOADS AND SPANS : ' : B S ' l,.,‘ﬁ 4 8 E b
- - - < Ni-
. - . - , - JjwG|388|0
- 2" EDGE DISTANCE - T R . 3"EDGE DISTANCE _ : . 1=2|58 2l
u : J— . : ] . e : : ) » . <3]3 u.-§ “
o LOAD |- SPANS UP TO SPANS UP TO SPANS UP TO SPANS UP TO SPANS UP TO SPANS UP TO S . v v UE|E g d
z2 1. : (W) -0". -5 S Ar-0r 51 T gst -0 o v o283
E 8 - ANCHOR TYPE. . PSF : (SEE NOTE 1) B B (SEE NOTE 1)- 1 "»:(ASEE’ NOTE‘I)Y ~§- " (SEE NOTE1) . (SEENOTE 1) |- (SEE NOTE 1) i : : » . :: ég w ; _
8E B ' P/(Is/;\Eié' 1 CONNECTION. CONNECTION - CONNECTION | CONNECTION- CONNECTION CONNECTION L L B (RS Pl -
7 sl TYPE TYPE : TYPE TYPE O TYPE TYPE : : ' o ‘ SHESEA ™
NOTE 1) v » = : _ . , : ; : SRS
. - . . : B . : wes @ ¥
Tl2p3fspstrizi3jssttii23|aisft1|{2|3|afs|f1l2|3]a|s]1]2]3]s]s '_Iiéég,\,
’ - 48.0 [12.5112.5{12.5[12.5(12.5112.5] 7 112.5[12.5] 9 h2.5s] & j12:5]12 5 7 N2.5012.5[12.5112.512.5§12.5| 7 |12.5[12.5] 11 }12.5| 5 [12.5/12:5].8 ;g g g § ~
o . : o : v i L z 2 N
: am 62.0 h2.5 12 f12:512.5{ 12 i2.5| 4 [12.5h12.5] 7 | 11 1 5. h2.sh2.sp12.s)12.5012.502.5| 5 |12.5012.5] 8 h2.s| 3 j12.5] 9 | 6 ] %glu_, e
: o 72,0 25| 8 Ji2shiz2.sl 10 1253 [125(42 | 6 | 10 7151 4 1250 9 {2.5112.5 12 h2.5| « [12.5012.5 7 | 11 8]l61]5 ;; 2% 8 2
174" ITW TAPCON W/ —f— ' - - : : Lo|aEs E '
1-1/4* MIN. EMBEDMENT | 92.0 [12.5} 5 [12.5112.5} 8 | 10 715 4 8 & 3 12.5) 6.412.512.5 10 ] 11 8 6 5 8 4 | 3 4 M= |
{MIN. 3,100 P.S.I. CONGRETE)] 230.0 | 7 3 / 317 3 317 3 31{8 313 |41}8 '3 1341418 3134 2, 0’3 ‘
: . . : g5 25
* i 48.0 |'2.512.5/12.5112.5) 11 12.5{ 5 12.512.5] 7 { 11| 3 {12 [ 12 |5 h2.spi2.sh2.sh2.s)iz.5)h2.5] 5 |12.sh2s| 8 [12] 3 [12]12] 6 s §§§§§§
* ﬂ@mmw 62.0° h2:sf 9 h12.sf125f 9 1127 3 {12 1215 | 9 9 & h2.50 10 1zshizsl 1012 3 J12]12] 6 | 9 9l.6 | 4 S Eég@ig
1/4"® ELCO MALE/ _ : : ' - : Wi 3Ea32
FEMALE "PANELMATE"” W/ 72.0- {12,585 7 12.5012.5[ 7 | 10 10 9 IS 8 5 4 3 12.5} 7 [{12.5012.5} 9 j10{ 3 [10]| 9 5 8. 5 L 4 ZZ E .éo@,g
1-174 MIN. EMBEDMENT . : =<5 BR2TE
& 1/4-20 MACHINE - | 92.0 |12.5| 4 [12.5)125[ 6 | 8. 6 3|6 3 12.5| & [12.5912.5 7 | 8 6| 4| bt]e 3 -3 2 cZEsg
SCREW WITH NUT — - ; ' . ‘ : _ : - =4 2 "QEEEE
(MIN. 3,000 P.S.I. CONCRETE)|* 230.0 | S ' , 5 5 6 6 - 6 : = =2 FME
48.0 [12.5[12.5]12.5[12.5{12.5]12.5] 11 {12.5/12.5| 10 hi2.5] 7 12.5|12.5] 8 |12.512.5112.5(12.5|12.5h2.5{12.512.512.5/12.5112.5] 9. [12.5/12.5/12.5 SEE PAGE 6 FOR <§ 2
* : o Dy s ket S Mk e : : ' S i A R . - — G R Mt ANCHOR NOTES - IE g%
’ 62.0 [12.5(12.5[12.5[12.5/12.5112.5{ 7 {12.5[12.5| 8 h2.5/ 5 112.5(12.5] 6 12.5|12.5(12.5112.5[12.5)12.5} 9. {12.5[12.5112.5112.5] 6 [12.5]12.5| 10 ' "“o = sg
174" POWERS RAWL 72.0 [12.5h2.sh2.5012.50 11 [12.5] 6 {12.5012.5] 7 h2sl & [11] 9 | s h2.sfi2.512.512 5h2.5h2.5| 7 125125 11 1255 125/ 11| 8 O 2 £g
CALK-IN. W/ 7/8” EMBED. . —t - O,Vi = 8E|l
w & 1/4-20 STAINLESS 92.0 pn2.51 9. [12.5012.5] 9 p2.5f 4 |12 9 {5 hos 316 5 4 1250 11 |12.5112.5112.5112.5] 5 [12.5} 11 8 j12.5 3 8-|.6 6 o 8- GE !
5 | STEEL MACHINE SCREwW : . , s RS : g £3
" £ | (VIN. 3,000 P.S.I. CONCRETE)] 230.0 |12 S ta 311207745 |4 | 3})12 S|4 3p2s 37| 5}y6ph2s 3717|5165 3] 7156 : é _ £3
g. : ) 48,0 . 12.512.512.512.512.512.‘5 S5 12,512,587 }12 | 3 112112 | 6 p2.5[12.5112.512.5112.5012.5| 6 [12.5112.5!" 9 }12.5 4 12.5112.5( 7 R |
1. — — - _ ' : ' : — V. EVICH ||
o ﬂ::(j 62.0 f12.5/ 10 f12.5012.5{ 1012 | 3 |12:|12]| 6 | 9 9.1 6 & J12.5/. 11 [12.5/12.5] 12 h2.5] 4 j12:5012.50:7 | 10 7 10 5 PROFESSIBNAL NGINEER
R I ) i = e : . - L - - - ; - | FL Licenge No: JE 00
[ ) ) - 72,0 12,5 7 n2sih2.5! 8 | 10 / 10} 9 5 8 5 IN L 1125 8 125112510 12| 3 12| 1 619 6 | & [ 3 o
1/74"® POWERS RAWL - - - - g - y
- ZAMACNAIL-IN W/ 1-178" T 92.0 12.5) & 12.5012.5] 6| 8 |/ 6 {4 |4k} 6 3 3 112.5] 5 [12.5{12.5| 8 | 9 6 (S |s5]|7 313} 3 :
MIN. EMBEDMENT ; 2 : - ; - ' <
(MIN. 3,000 P.S.1. CONGRETE)| 230.0 |'5 V/ ‘ St 5 - 6 3 316 3 316 3 3 e
o 480 N2.512.5112.5{12.5112.5{12.5 -7 |12.5|12.5| 8 12.5] 4 12.5[12.5} 6 12.5(12.5[12.512.5112.512.5| 9 112.5[12.5|'12 12.5 5v 12.5112.5] 9
@ ' » 62.0 12.5[12.5/12.512.5{ 10 12.5] 4 h12.5/12.5] 6 | 12| 3 |12 | 8 L 12.512.512.5[12.5[12.5]12.5] 6 [12.5/12.5 9 hi2.sl & h2.s[10 ] 7 -
1747 1Tw REDHEAD | 72.0 . [12.5] 9 l125h2.s] o h2.sl 3 25l 12 | 5 | 10 7. 1 & h2.5 11 h2.sp12.5012.502.5) & p12.sp12.5] 8 hzsf 3 {9 17| 6 Tl
DYNABOLT SLEEVE : . ; . , ’ ' : - . bR
ANCHOR W/1-1/8" 92.0 I12.5| 5 p2:5[12.51 7 |11 816|418 & 13 13 N25[ 7 [H2.512.5 111253 110 7 | 6410 51415 I’RODUCTRENEWED Sledls
- MIN. EMBED. . E : ' — . v ; . - : - as complying with the Florida cE e
(MIN. 2,100 P.S.I. CONGRETE)| 230.0 | 7 3V 317 3 3407 3 3}9 L3409 L1341} 9 b 1731 & E " Buiding Code : ol (53|22
: ; 48.0 N12.512.5)12.5112.512.5012.5| 10 |12.5/12:5| 10 }12.5] 6 |12.5/12.5] 7 h2.slz.shz.sh2.5l2.sh2.shz2.5sh28l2502 5025 8 h2.5h2.5 12 ' + Acccptance No O3 ol |58 2
-62.0 . P2.5i12.5/12.5112.5012.5h2.5 7 112.5112.51.7 2.5 4 125/ 121 6 12.5|12.5{12.512.5(12.5)12.5| 8 12.5112.5( 12 12.5| S |12.5[12.5] 9 By ; i
» s » ’ - y_4 19 [FEEE
1/4"® POWERS RAWL DROP 72.0 P2.5112.512.5]12.5{ 11 12.5] 5 112.5[12.5 6 h2.5| 3 11 -5 [2.5012.5]12.5{12.5{12.5}12.5{ 7 12.5{12.5| 10 h12.5] & 12.5{ 10| 8 Miam =l 2ixi>1a
|-IN 8 1/4-20 SIDEWALK : - . : A - Division MHEE
BOLT {3740 HEAD)Y W/ 92.0. N2.5| 8 n2.5(12.5,.8 h2s! &« | 11 8 S 112 6 S 4 112.5) 10 |12.5112.5112.5[12.5| S5 {12.5 11 8 2.5 3 7 6 : :§3§
1-1/4" MIN. EMBEDMENT - : : : ' : F18|zl4
(MIN. 2,000 P.S.I. CONCRETE)| 230.0 11 5 4 3|1 S 4 311 5 L 3 2.5 3 6 5 5 n2.5 3 6 S 5 [12.5} 3 6 S.15 AN
| PRODUCT REVISER [dare 09/30/199Q
a3 complyin r
widi géﬂ@g\?!ﬂlﬁé%ﬁd& [s:aslle\‘OTED][d awn b:;c]
Assepinee Ko 02-0/5. 08 |75y [Trssy
. yot.3 3 drawing na.
By o= ‘ : 98-217 -
rany = .
Division °P"’d““q6mrol ( sheet 7 of 8

05/09/02 . 14: 24



05/09/2002  02:53: 34pm

J: \CADD\CaddQB\H‘ufst\98—21 7\R3~sub\98—217-08.dwg - AVazquez

Print .Information:

5 J
. Uz|dez)z|
ANCHOR SCHEDULE - - o - | Zo 88 g
: , o : : T gl
FASTENER MAXIMUM SPAGING (INCHES) REQUIRED FOR VARIOUS DESIGN LOADS AND SPANS , g ' m-?'—‘ g8zl
- - 3 = . —lag<Bi-
: : : : Wyl e 2 o
2" EDGE DISTANCE » _ o _ 3" EDGE DISTANCE _ : sl ’ : =2 §-§§ e
oy LOAD | spANS UP TO SPANS UP TO SPANS UP TO. SPANS UP TO | SPANS UP TO SPANS UP TO. > _ o vl Eadl,
P E . ‘ . (W) 50" . T gr_gn G 110" . : C 50" g8'_5" 11{_ " . ’ . : o E o. 2 2,2- -
F5 | -ANCHOR TYPE PSE (SEE NOTE 1) (SEE NOTE 1) . (SEENOTE1) .| - (SEENOTE 1) (SEE NOTE 1) - (SEE NOTE 1) - ' L s N I Y- el 151
a5 | A . — , _ : o . , AR
o E o ' ' P@E)é' CONNECTION - CONNECTION CONNECTION . CONNECTION - | = CONNECTION CONNECTION R : : : » : <l p R § @
e TYPE C U TYPE TTYPE TYPE | . Tvyee , - TYPE , : z|S 23|
NOTE 1) v v : - — Bolazs|z
172(3|&4alsl1]2[3|a&|st1)2|3|e|strlzis|a|s|1|2]|3]a{5}1|2|3]&]|5 TIlE ;g ~
. (@) = o
. - 3 g :
_ 48.0 h2sfi2.5012.512.50 9-J10| 3 |10|10] 5] 8 8 | 8| & p2sp2sh2sh2s] 11|12 4 (1212 6] 9 91915 3= EE% ~
E:ﬁmm 62.0 N2.5| 6 [12.5112:5] 7| 8 -8l 8]l4]6e 6 | 4| 3 2| 7.p2sp2s 89099517 AT 1413 ';“E %2‘;‘;‘ &
: ’ . ' | N ' L v z'gm [C)
- 72.0 |12 4 (12|12 6] 7 6| 3]s 3 12.5| s-jh12.sp12.5] 7'} 8 : L6 41313 =Z| g4 B|E
: . : : - - ; I8 ¥ =5
17678 1TW TAPCONW/| 920 | 9 {3 |9 |9 |4]5S 4|3 L 10.|-3 |10{10{ 5| 6 41334 Mol ~ ISl
1-1/4" MIN. EMBEDMENT : . -~ . e eed
230.0 | 3 ‘ 3 3 A A L T E . _a
pr - : 3 E':,.goc\oo
* 48.0 [12.5112.512.5012.5) 11 h2.s] 5 h2.5012.50 7 |12 | 3.| 12| 12| 5 h2.5n2.5)12.5012.5/112.5112.5| 5 p2.sh2:s) 8 (12| 3 [12(12] 6 E E 82335
- - - <P
* 62.0 J12.5] 9 |12.5h125 9 {123 [12]|12| 5] 9 6 | & 12,510 [12.512.5/ 10 |12 | 3 {12 |12 |:6 | 9 9 IA = §£g§g§
: — — = ' : . : : 2oEn
1/4"® ELCO MALE/ 72.0 J12.5| 7 h2:sp2.s| 7] 10 10 L8 4t { 3 h2s| 7 j12.50i25] 9 |10 3109 |5]8 4 1L Z%" ET28R0
FEMALE "PANELMATE" W/ . - : : : =< 2B aCye
. 1-1/6 MIN. EMBEDMENT 92.0 |12.5) 4 [12.5012.5| 6 | 8 6l4l3]e 25| & 12512507 | 8 6| 4| &]e 3 3 SEZgu g
& 1/4-20 MACHINE- ; : ; Sol 3 gS 85 g
SCREW WITH NUT 230.0 } 5 S S 6 6 6 o = @ 85mp3
t8.0 hz.sliz.sl12.512.50 10 h2.s| « [12.5012.5| 6 J10] 3 |10 ] 10| 4 h2shz.sh2.sli2.5p12.5h2.5| 6 [12.5l12.5) 9 2.5 3 [12.5712.5 6 SEE PAGE 6 FOR <§ g :
. . . . . 1£. . . | . . . . . . . . L. . . 3 =
X * . : — : : ’ - ANGCHOR NQTES . E g=
8 62,0 [12.5] 8 (1250125 7 J10|'3 |10]10| 4 | 8 3 h2:5| 10 j12.5012.5) 11 p2.s| 3 j12.5/12.5] 7 | 10 0715 MmO\l = gg
2 72.0 h2s| 6 [12s)125/ 6 | 9 9 4|7 4t 313 h2s| 7 h2spizsf1o) 1 3]1m]j10]6| s 64|t 8"‘ g 58
W 1/4"® POWERS RAWL ——t ' . | £ 38
~ | cALk-INw/ 7/8" EMBED.| - 92.0 [12 |3 [12]|12| S | 7 s [3{3]s 12,50 & [12.5[12.5] 8 | 9 6 | 4la]e 3 04 3 o Iz gr
w & 1/4-20 STAINLESS - ; y p 1 . g zZ= )
& - | sTeeL MAckINE sCrRew | 230.0 | 5 [ A s 5 6 3 e 3]e v 3] 5\ £3|
-l : 48.0 [2.5012.5012.512.5{ 9 |10] 3 |10(10]| S5 | 7 7 | 4 h2.sh2.sphzsphzsf 1111 |4 11|11 6|8 8 | 8|5 , :
O . . - - - 2 - - 1 - - T i [ -
3 [}:(__—_:: - 62.0 h2s| 6 h2.shes| 7 |8 / 8. |6 t | 3 h2s| 7 [12:sl12s| 8 | 9 s|e 6| n s ALENGHiEER ||
9 R ' b 720 a1 e]e 616 5. /12.5 ‘s [2.s)12:5f 7 |7 71415 L1313 ’ AR I
o] 1/4"® POWERS RAWL 92.0 9: 49191155V /3 I 103 110{10] 616 L | 33 & i o
T | zAMAC NAL-IN W/ 1-1/8" — ; b 4 ; o = -
o MIN. EMBEDMENT 230.0 | 3 ‘ y 3 3 4 L / L RN - .~ .
I S 48.0 h2s|l12 h2sh2s| 7]lsl 3| s L6 6 | 6 | 3 2spz.sp2.5012.5/ 1111} 3 |11]11]| 6] 8 818165 1002
iy E} 62.0 J1n|s|n|1n|e]e 6j6|3}s 513 12,5/ 6 J12.5012.5| 8 | 8 818|5]6 6 o » | e———
) ’ ] 720 9 |319)9]|s5}]s] 515{3}& 3 12 e f12 |12 7|7 716 |4]s 31317 . " pPRODUCTRENEWED {HENE
1749 ITW RED HEAD - ; v - - ' » , T mplying with the Florid slolgie
DYNABOLT SLEEVE g2.0 | 7 ¥ 7171 3 3 / 9139} 5 A L. 3| & /. [ : @3 complying tie Kiorida 2\xlg)s
ANCHOR w/1-1/8" : — , 577 © . Bulding Code NEEE
* MIN. EMBED. 230.0 | 3 _ 3 3 2 L , NN e Acceptance No 03— 070/- 0] MIREWE
T - ; Expiration Date 05 ol [slziz|¥
. @ 48.0 p2.sl12.5012.5012.5)12.5012.5| 10 [12.5/12.512.5112.5| 6 [12.5012.5| 11 12.5/12.5/12.5[12.5[12.512.5| 10 {12.512.5[12.5012.5| 6 [12.5[12.5| 1 N ey , = 528
. : I , _ 5|8
iy e - |.62.0 h2shz.sh2.sfi2.sh2.she. 512, 3 . ’ shz2shzshz2sh2sha.s| 7 h2sha.s| 11 h2s| « h2sj12 | s By /i : SRk
_ 5 ScREW ROD|, | 512512512512.5125 7 N12.5h2.5| 11 fi2.s| 4 12.5[12 | '8 f2.5)12.5[12.512.5[12.5[12.5 12.512.5)  Miamt ey st > »;.m
- 72.0 p2.5hi2.5[12.5112.5012.5h12.5] 5 |12.5012.5| 9 h2.5] 3 |10 | 8 |7 J2.sp2.5p12.5)12.5112.5012:5| 5 [12.5012.5] 9 [12.5} 3 | 10 7 Division ©- . R EREE
1/4-20 {TW EPCON - - - - - :QQQ
EPOXY ANCHOR W/ 92.0 h2.5| 8 [12.5p12.512.5h2.s| 3 [ 11| 8 | 7 |12 6 s |12.5] 8 {12.5012.5012.5h25| 3 |11 | 8 | 7 |12 5 =131318
S.S. MACHINE SCREW W/ * - 2isi8
2" MIN. EMBED. 230.0 | 1 S|4 |5 }|M1 S|4 |s5]Mn 5 SN "S5 1415 1N Slas5 M 5415 - &le|nlm
- PRODUCT REVISED =
& complying with the Florida ate 09/30/1998}
Bmidiag(fmée ) [scale Jﬁrawn by ]
Acseptance No 02-03)5. 08 [_as noTED MC
Expsmtxma ‘ {dasugnvh}; }Fﬁe:keifﬂ
y "\ ) drawing no.
Miaial Dade Product Copo 98-217
: ion (sheet 8 of 8]

05/09/02 14:27



